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	1.
	Growth is a quantitative concept which can be positive or negative
Development is a qualitative concept which is always value positive
	0.5+0.5

	2
	Also called Quinary sector:
Involves highest level of decision makers: most highly paid
	0.5+0.5

	3
	Opening of new industries like Opel Car Assembly plant, new chemical plants, universities, shopping centers etc.
	1

	4
	Great lakes-St Lawrence Waterway, The Mississippi Waterway
	0.5+0.5

	5
	Total Population/ Net cultivated area
	1

	6
	Strict implementation of Water Management Policy, growing water resistant crops, lining of water courses, afforestation- any other relevant point
(any two points)
	0.5+0.5

	7
	Air pollution
	1

	8
	1. Better knowledge is developed because of better knowledge of laws of nature
2. The understanding of concept of friction and heat helped discover fire
3. Laws of aerodynamics helped in developing faster planes
4. Knowledge of DNA helped in combatting many diseases.
Any other relevant example (any three)
	1+1+1

	9
	a. Trans-Siberian Railway
b. Asia and Europe
c. Linked the primary occupation based eastern parts of Russia with industrially developed west thereby promoting balanced growth
	1+1+1

	10
	a. Class  IV Towns
b. Class I Towns
c. Class III Towns
	1+1+1

	11
	Eco friendly, Easily available, are inexhaustible, less requirement of capital (any three points)
	1+1+1

	12
	1. Decline in traditional items particularly agricultural products
2. Significant rise in the share of engineering goods
3. Export of crude and petroleum products
Any other relevant point
	1+1+1

	13
	1. Excessive use of non biodegradable products like CDs, polythene bags
2. Solid wastes cause health hazards by acting as breeding ground for rodents and insects which spread diseases
3. Limited number of waste recycling units
Any other relevant point (Any Three)
	1+1+1

	14
	I. A-  Northern Canada ; B- Northern Eurasia; C-Amazon Basin; D- Tropical African Forest
II. Requires very small amount of capital investment, operates at low level of technology, yield per person is very low, little or no surplus is produced
III. Synthetic products are often better, available in plenty and at low price. Hence products of gathering cannot compete with them 
	1+2+2

	15
	Conversion of primary products into useful articles .
Comparison: 
i. Modern manufacturing involves division of labour
ii. Modern manufacturing process involves mechanization
iii. Modern manufacturing involves continuous technical innovation
iv. Modern manufacturing units are comparatively smaller and located along the peripheries of major cities
Traditional manufacturing process was not marked by any of the above mentioned features
	1+4

	16
	Bilateral(Between two countries and Multilateral(Between many countries)
Free trade causes loss to developing countries; results in the practice of dumping, rich countries always do not open markets for developing countries.
	2+3

	17
	Town, city, million city, conurbation, megalopolis- one feature of each
	1+1+1+1+1

	18
	Change in the number of people living in a particular area between two points of time is called Growth Of Population
4 phases of growth of population in India:
i. Phase I-1901-1921- High BR & DR, Low GR-Stationary Phase
ii. Phase II-1921-1951- High BR, Slowly falling DR, Increasing GR- Steady Growth Of Population
iii. Phase III- 1951-1981- High BR, Sharply falling DR, High GR- Population Explosion
iv. Phase IV- Post 1981- Falling BR & DR, Falling GR
	1+4

	19
	Land resource is crucial in India because:
i. Agriculture is purely land based
ii. Quality of land influences productivity of agriculture
iii. Land ownership has a social value and influences social status
Irrigation is essential in India because:
i. Reduce dependence on unreliable monsoon
ii. Practicing year round agriculture
iii. To enhance productivity
Any other relevant point (any two)

	3+2

	20
	1. Roads can be better developed in the areas having economic prosperity .
2. In economically prosperous areas more capital can be invested on construction of roads.
3. Demand for road transport is less in economically backward areas.
4. In hilly areas, construction of roads is difficult as well as costly.
5. Plain areas are best suited for construction of roads
	5

	21
	A- Appalachian; B- St. Petersburg; C-  Brasillia; D- Cape Town; E- Jakarta
	1+1+1+1+1

	22
	In the map


	1+1+1+1+1
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